B W%l E B0 % o

Teacher :

1) 2 x{10+ 5)- 52

2) (54- 2%)+( 5 + 5)

3} (13x10- 3°)+ 9

4)(9-3)%+(12+ 3)

5) (38- 6)+ 8- 6°

6 x(14 + 3) - 6°

9) (43- 3)+=10- 47



B Weli g 3% o

Teacher :

1) 7x(14- 4)+ 72

2) (8 +2)°+(15+ 3)

3) (40- 2%) =( 1 + 3)

4) (13x 4 +8°)+5

7) (38- 2) =18 + 5°

8) 5x(10+6)- 7°

9) (55- 5%) =( 12+ 3)

10 ) (13- 4)°+(8 = 4)

[



Match each expression with its solution.

48+8/4+4 A. 25
24+8/(4+4) B. 54
(3+6)x(12-9) _ __ C. 95
9+3x5__ D. 10
(24+8)/4+4_ E. 22
(24+12)x(6-1)____ F. 43
96 x (15-13) ____ G. 180
18-6x3__ H. 215
(24+12)yx6-1___ . I 27
3+6x12-1 J. 99
(75+25) /10 ____ K 19
B8+3)x4-1_____ M. 192
16+30/5___ N. 12
24+12x6-1___ 0.0
48+8/4+4 _ P. 100
(3+6)x12-9___ Q. 24
33-8-6____ R. 11
32/4+3x10 _____ S. 2
8+12/4_____ T. 38

8+6-4x3 . 66



